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Kids Challenge! 
Did you find the word? 
It is “CHAIR”. 

Smart kids : 
K. Sashank, Kakinada. 
Sravya Ainapurapu, St. Louis, Missouri. 

 

Kids solved both crossword and also found the puzzle word. Congratulations Kids! 
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Kids Challenge!
Did you find the word?
It is “CHAIR”.
Smart kids :
K. Sashank, Kakinada.
Sravya Ainapurapu, St. Louis, Missouri.
Kids solved both crossword and also found the puzzle word. Congratulations Kids!
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1. TAXI, TOYOTA. 
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Question Gallery – Answers 
 

1. TAXI, TOYOTA. 
 

2. Inner circle’s area is half of the outer 
circle. 
 

Explanation: If we assume the diameter of 
outer circle is 2A, the area of outer circle is 
πA
�"�

Inner circle’s The diagonal of the 

square inside circle is 2A,  thus side of the 
square is √2A. The side of the square is 
equal to the diameter of the inner circle. 
Thus the radius of the inner circle is . The 
area of the inner circle is πA

27�. So the 
area of outer circle is double the area of 
inner circle.  
 

3. As shown in the figure, if the blue balls 
are kept in circle form, then the problem is 
solved. 

����

���������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������� ����

G"G"G"G"�H�.�H+�HH.HH+��H.H�+���.��+��;.;�+��G.G�+��I.I�+H�.�H"�
�

I"I"I"I"� &�'�	(������ &����������� &� ����-�� H�+� J�
�C�"�K�"�/��-��&�0��&��45 �6�������9���	(�������L�
;"I�M�N"I��C�"��K�"�&�0���E�O�
P�O��&�8���������
O�? ������H���C�"��K�"�/��-��Q�&�'�	(��������"I�
�C�0K��K�0 ��A�RD��-��S��TU	���T���
0"�

I"�The diameters of the two circles are 12, 
7 cm respectively. Which means the sum of 
their radii is 6 + 3.5 = 9.5 cm. The distance 
between their centers is 10 cm. Thus the 
circles are away from each other by 0.5 cm.�
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Question Gallery – Answers
1. TAXI, TOYOTA.
2. Inner circle’s area is half of the outer
circle.
Explanation: If we assume the diameter of
outer circle is 2A, the area of outer circle is
pA
˘"�
Inner circle’s The diagonal of the
square inside circle is 2A, thus side of the
square is ÷2A. The side of the square is
equal to the diameter of the inner circle.
Thus the radius of the inner circle is . The
area of the inner circle is pA27˘. So the
area of outer circle is double the area of
inner circle.
3. As shown in the figure, if the blue balls
are kept in circle form, then the problem is
solved.
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I"�The diameters of the two circles are 12,
7 cm respectively. Which means the sum of
their radii is 6 + 3.5 = 9.5 cm. The distance
between their centers is 10 cm. Thus the
circles are away from each other by 0.5 cm.�
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Salutation to your solution! 
We ourselves disclosing!! 
 

Srinadhudu. 
Six seasons. Spring, Summer, Rainy, 
Autumn, Hemant (Season in between 
Autumn and Winter; No equivalent 
name found. Can suggest if you 
know) and Winter. 
Mother of Mohan Das Gandhi is 
Putlibai, father is Karamchand 
Gandhi. Wife’s name is KasturBa. 
4. Hiranyaksha, Hiranyakasipa; 
Sishupaala, Dantavakra; RavaNa, 
Kumbhakarna; 
5. Alexander Fleming. 
6. Rabbis. 
7. Vitamin D. 
8. Srikakulam district in Andhra 
Pradesh. 
9. Sattiraju Lakshminarayana. 
10. Lawn Tennis. 
11. Playing Veena. 
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Salutation to your solution!
We ourselves disclosing!!
Srinadhudu.
Six seasons. Spring, Summer, Rainy,
Autumn, Hemant (Season in between
Autumn and Winter; No equivalent
name found. Can suggest if you
know) and Winter.
Mother of Mohan Das Gandhi is
Putlibai, father is Karamchand
Gandhi. Wife’s name is KasturBa.
4. Hiranyaksha, Hiranyakasipa;
Sishupaala, Dantavakra; RavaNa,
Kumbhakarna;
5. Alexander Fleming.
6. Rabbis.
7. Vitamin D.
8. Srikakulam district in Andhra
Pradesh.
9. Sattiraju Lakshminarayana.
10. Lawn Tennis.
11. Playing Veena.
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